

$$\left[\frac{ab}{\varepsilon} \right] = 9$$

$$\hookrightarrow \frac{a}{p} \approx 1 + \frac{-a}{p} \quad \left(\frac{a}{p} \approx 1 \rightarrow a \approx p \right)$$

$$\frac{4}{\mu} = (\alpha_1 + \beta_1) \delta \rightarrow \alpha_1 \beta_1 + \alpha_1 \beta_1 + \beta_1 \alpha_1 + \beta_1 \alpha_1$$

$$\frac{b}{p} + \frac{-1}{q} = \frac{b}{p} - \frac{1}{q} = \frac{bq - p}{pq}$$

$$\sqrt{\frac{A}{10}}, \sqrt{\frac{A}{8}}, \frac{A}{\sqrt{2}}$$

$$\frac{r\sqrt{a}}{2}$$

$$\left\{ \frac{r_0 \beta^2 + r_0 \alpha^2}{r_0 \beta^2 + r_0 \beta^2} - \epsilon \beta = 1V \right\} r_0 (\beta^2 + \alpha^2) + \epsilon \beta^2 - \epsilon \beta = 1V$$

$$\hookrightarrow \beta^r + \alpha^r + \beta^r - \beta = 2 \cdot 9/18$$

$$\overbrace{s^r - r\rho} \quad \frac{b}{a}$$

$$|\beta - \alpha| \approx \frac{\sqrt{\Delta}}{|\alpha|} \approx \frac{\sqrt{a^2 + \epsilon_{ab}}}{a} \approx \frac{a^2 + \epsilon_{ab}}{a^2}$$

$$\uparrow$$

$$-\frac{r_1}{a} 2918 \rightarrow \frac{b}{a} 2018$$

A hand-drawn diagram of a river with a meandering path, labeled "River" and "Meandering".

$$\Rightarrow |p_1 - a_1| \geq \frac{\sqrt{\Delta}}{|a'|} \geq \frac{\sqrt{(a_1')^2 - 4\epsilon_1}}{|a'|} \geq \frac{\sqrt{a_1'^2 - 2a_1 + 1}}{|a'|} \geq \frac{|a_1 - 1|}{|a'|} \geq \frac{1}{|a'|}$$

β_1 و β_2 (معاملات) $\beta_1 = 0.5$ و $\beta_2 = 0.5$

$$|P_r - P_i| = ? \quad \rightarrow |P_r - P_i| = \gamma \varepsilon - \mu \quad \text{221}$$

$$\rightarrow x' - \log x \xrightarrow{PE} p_r 2b 35E$$

712 Major Leob

$$r \rightarrow r' = \sqrt{\frac{A}{\pi}} \quad r \rightarrow \sqrt{\frac{100 - E_b}{\pi}} \quad r' = \sqrt{\frac{100 - E_b + E_c}{\pi}}$$

$$g_1^* + g_2^* = 1 - \ln^* z_0 \rightarrow 52-1$$

$$\chi^2 + \beta^2 = 1$$

$$\underbrace{\alpha \cdot p = m}_{\text{min}} \rightarrow \underbrace{S \cdot p \approx 1 - (1 - \alpha \cdot p)}_{1 + \alpha \cdot p \cdot m^2} \rightarrow \alpha \cdot p \cdot m^2$$

ψ_2 part the end (5)

$\text{H}_2\text{O} \rightarrow \text{H}^+ + \text{OH}^-$
 $\text{H}^+ + \text{OH}^- \rightarrow \text{H}_2\text{O}$
 $\text{H}^+ + \text{H}_2\text{O} \rightarrow \text{H}_3\text{O}^+$
 $\text{OH}^- + \text{H}_2\text{O} \rightarrow \text{OH}^- + \text{H}_2\text{O}$
 $\text{H}^+ + \text{H}_2\text{O} \rightarrow \text{H}_3\text{O}^+$
 $\text{OH}^- + \text{H}_2\text{O} \rightarrow \text{OH}^- + \text{H}_2\text{O}$

$$A(x, y) \mid a \wedge b \wedge c$$

$$B(-2, 4) \text{ ist ein } \frac{-8 + 4}{4} = -1 \rightarrow \frac{-b}{a} = -1 \rightarrow b = a$$

$$y_{\text{ext}} \approx 1 \Rightarrow \frac{-\Delta}{\epsilon_{\text{ex}}} \approx C - \frac{1}{K_{\text{ex}}} (K_{\text{ex}})^2 \Rightarrow C - a \approx 1$$

$$\alpha^T \circ \beta^T = \delta \rightarrow s^T - r^T \sim \left(\frac{r^T}{\alpha}\right)^T - \frac{r^T}{\alpha} \rightarrow E - \frac{r^T}{\alpha} = \delta \quad \left\{ \begin{array}{l} \frac{r^T}{\alpha} = 1 \\ r^T = \alpha \end{array} \right.$$

$C = 2$

③ $\frac{1}{4}$

~~C-10~~